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Que-1 A What is hybridation 7 Explain structure of H20 and Bed2 10
B Discuss low and high spin complex. 09
' OR
Que-1 A Give the molecular orbital diagram and limitations of Sigwick 10
Theory.
B Discuss usefulness of organic reagent EDTA and DMG in 09

qualitative analysis of inorganic substance.

Que-2 A  Normarise wave function ¥ = ¢”, if value of 8 is between & and 10

21 (O <0 <2r) and Define Sinzx is not Igan function for d/dx

operator .
‘B Derive relation between cartesian and polar co-ordinate 09
OR
Que-2 A  Whatis C.F.S.E. ? Find out C.F.S.E. and Magnetic moment of d' 10
to d'® systern in Tetra gonal strong field.
B Explain primary and secondary valency in complex compouad 09
[€0(NH3)6] so, and vorner theory. |
OR
A Explain when do not success to form octahedral complex in 09

strong field at that squar planer complex is form

Que-3 A Explain with ilustration metalic and gonic bond. 10
B Discuss chemical properties of Duterium and describe the zain 09
process of hydrogen.
OR

Que-3 A  What is Isomerism? Write quote on structural isomerism. 10



Que -4

Que -4

Discuss structure of H,0; and give one process of it’s

manufacturing.

Give Hum-Ruthary Rules for alloys and explain atomic radii,
gonization potential and magnetic properties.
‘What is orthogonality ? Prove that wave function ¥ =¥, + ¥,
and ¥+=Y; - P, are orthogonal.

OR
Explain when do not suceess to octahedral complex in strong
field at that Squar planer cofnplex is form.

Explain interstitial and non stochiometric compound.
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